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(A) T T (B) SRici | (C) (D) 9™
Dhwani said. “This boy is the husband ol}%ﬁc granddaughter of my father”. How is Dhwani related to the
boy ? ‘:,‘____J .
(A) Cousin (B) Niece (™) (C) Granddaughter (D) Mother-in-law

2. Fraferfe ¥ & A e R T W “REACHABLE 3 eI 316 1 31t T a1 vt a6k 7f e
Which of the following words cannoft be fngCd using each letter of the given word “REACHABLE” only
once ? ™
(A) REACH (B) CLEAR (7] (Y CHANGE (D) EACH

3. STTETUSHIR? ""/l
What 1s the next term ? ™

B:16 :E:?

(A) 128 uB) 625 (C) 54 (D) 64

4. S utgm feum # 40 et wre 8, R and qear & o 30 et st e | I 30 YTt faig & et ot
w 3i e R R 0 5 Con [0
(A) 47 HieT e {j‘] (B) 41 HIRT3I® _ @
(2 50 e efor-afim ® (D) 45X qd D }}‘_ 2roT

James walks 40 metres in the West directioﬁg turns left and walks another 30 metres. How far and in which
direction is he from his starting point ?

(A) 47 metresh South i:::}l (B) 41 metres North
(C) 50 metres South-West ) (D) 45 metres East

5 uﬁmmﬁwﬁzmﬁzﬁaﬁmﬁﬁﬁﬁmmmﬁmﬁ%@%%? O
(A) afor (B) W q 2] afsm (D) qd
Which way are you facing now, if you spin 270 degrees clockwise from North at the beginning ?
(A) South (B) North (C) West (D) East

D
xe

gt
- Study the given figures carefully and cho&ﬁ an option from the answer figures that maintains the pattern

observed in the problem figures. \.

q_

Identify the correct g ﬁmWme%,waﬂﬁaﬁuﬁﬁwﬁml
a : o - |
, LN?DENCE,,_ Crnative that Indicates the number of times cach letter appears in the given wor r
I
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@) Frefifam a3 sver B st ,
mmm@@m 3276000 T | 27 6

Study the following table and answer the question given below.
Total population of the given States = 3276000.

Gender L:tgqte llliterate | % Population
M =
EREN NN
I IR B

- -

| -

r”b males in States A, B and D together, to the total population

of all the given states ?
(A) 35.1% (B) 30% (C) 3L15% (D) 30.2%

9, mwﬁmmﬁﬁm%mmwaﬂmmmésﬁgﬁq

heir order in the English dictionary and choose the one that comes

Arrange the following words as per t
first : (;l / &
Elastic; Eldorado; Ejaculate; Electrodf) " r—-
(A) Electrode B Elastic &) (C) Eldorado (D) Ejaculate/i(/d;__
10. ﬁnﬁlﬁaﬁﬁﬁﬁwaﬁmmmﬁﬁ%? | 4
Which of the following words has its |etters, \tﬂ the English alphabetical order ? 9
(A) Acerty (B) Acerous x (C) p Acepots (D) Acep
@) aRx>y=x +y3mnx@y-x —-y,?ﬁ3 e@l)= @.)r T
Ifx>y=x 3+y andx@Yy= X2 — thenﬂ}(Z@l) R
(A) 280 (B) 370 (C) 400 (D) 420 / J
12, 2401 : 343 ¥ GUH U 9 F1d HIC | ,
Find a pair that is similar to 2401 - : 343.
(A) 32:4 (B) 216:1916 ) 256 : 64 (D) 9:27




(A) 123 (B) 120 (C) 121 (D) 122

14. @@Fﬁz@maﬁw%maﬂt@w@mﬁgﬁ T sht AR 7t s ek e I HaT B | ag AT,

1d 3R o amd gar & | s ST Rufed i a7 oif: g R dswrd o

m—-l '
(A) qfgq — qd (B) gfaor—3Im (i —qfgmy (D) Yo — gfaqor

An athlete starts to run positioning his back tnwarfis the Sun once after sunrise and once before sunset. He
turns left, right and left agam In which direction lg,be finally running in both scenarios respectively ?

(A) West — East (B) ~ South — North <lC) North — West (D) East— South
15. sSTm@ER: 00 {7
.o _Complete the sequenge : - {‘J
A8, Y7B, XC6, WSD
Ay VE4 B) A4 " (C) Y4B (D) W4D
KWU24 T Pagedof24 T
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16, Fafafaa saen 1 qu den s Hifso L?-Z/ % A
Find the missing number in the following serjes -
11032, BS56. 9. 210, 240 -
(A) 190 36 (B) 176 ((j‘;;m«x %) 182
. ﬁﬁummﬂaﬂtﬁﬁﬁ%zﬁuﬁnﬁﬁmmﬁ;.)’
FY -~

mﬁﬁh@nﬁrﬁﬁw%_mmmﬁ%mmmmmwﬁ%mwmmm
Tt Y ik 15% wfeenad 3 & s A fawn

! g;ﬁaﬁﬁqﬁ#ﬁm%aﬁﬁwﬁml J

. 15% dsfiah off 3 37% o v e grato ot |

(A) T o 1 AT 11 SrgEen e @ (B) et Fred | ST AT

“} %aaﬁaﬁnmm% (D) r it Fr 1 T 11 STET T @
Identify the correct option regarding the statement and conclusions given below
Statement . -

. \\ .
In the rural assembly elections, the ballot box 1 'J'hod was used for voting. After the results came
1 the village voted in the clections.

out, it came into light that only 15% of the women
Conclusions : O
. Women didn’t know about the date of the clcclia@
II.  Only those 15% were registered and had a valid ypging ID card.
(A) Neither conclusion I nor II follows (B)4 Only conclusion I follows
(C) Only conclusion Il follows (DM Either conclusion [ or II follows

18. aﬁ*@'aaranf*-:-*%,a‘rls@swﬁ? ¢
If ‘@’ stands for ‘+’, whatis 15@5? d
3 (B) 20 (©)™ 10 (D) 75
+ 3 aaer o fore nfvrdta forgi 1 @l n AT

19, o T 0T F Hford A o Fofq AU

Choose the correct sequence of mathematical
given equation.

signs to replace the placeholders * in order to balance thc

(12%7*6) * 13* 6 O
w(xa — Ty = (B) +, —, T = (@ X, =, +, = (D) T, Ty ™y
20 ﬁnﬁlﬁﬁﬁﬁﬁm%ﬁmﬁﬁ%ﬁﬁmﬁm ? * @ ﬁc_
(A) &S —H= ( jama-—:ﬂ'ﬁﬂ s
2 Ffed — (%@ﬁ‘m—%am
Which of the following pairs of words are most similﬁ mctaning ?
(A) Soft — Gentle (B)-| Bright — Dark
(C) Hard — Easy (R)] Buy — Sell \
21 %ﬁi@qﬁﬁ%ﬁﬁaﬂtﬁmaﬁﬁlt@maﬁ% ot 3R AaT & | =T, Fh & i i AR AITR |
T e ot e e 1, B EREATI S 3| i s el ST A AT 2
(A), | (B) TEH (ORCH (D) et
. i o in a Cl . e centre. Adam is sitting to the immediate left of Betty. Charlie 1s

of Frank. Betty 18 sitting between Adam and Dan. Eve is sitting between Dan

o : jate right
sitting to the immed:2 - he immediate left of Frank ?

d Frank. Who is sitting to t
7 (B) Adam ... (C) Betty (D) Charlie

-
--"'--
—-—-—-—-—--------—-ﬂ-‘-‘




G20 — /6§

@ qamsﬁmaﬁ?;lsémiﬁﬁ@rd’r%ld%aﬁtﬁqzﬁgé%;mamaﬁmw%? . 28

(A) ,142.5 feift O (B) 130 feih >

. o .
& 1275 fah . (D) 1225 Feh -
A clock shows the time as 7:15. What is the! ﬂJu,Ic between the hour and the minute hand 2 /
(A) 142.5 degrees () (B) 130 degrees
(C) 127.5 degrees <.-J (D) 122.5 degrees

23, WEW AT ‘?

Farfercge : fam . =i : l
(x) feera (aﬂ%ﬂ) (B) fmior <__...J (C) fvig (D) 3HA
Complete the analogy : ‘f’,_:l

Doctor : Diagnose :: Judge :
(A) Instruct (B) Build (C) Judgement (D) Execute

24, F@me :

sfistTiore : Tifore ;R X M
(X) W () (B) e & €20
(C) Hfem D) T ) - e

@, 29 — /6

Complete the analogy : CJ | 3 7

Algebra : Mathematics :: Symphony : > -
(A) Literature (B) Sculpture .
(©) Painting < D) Music 227

IS MY ITH T (Ao greveeres (Sisshegi) & 31 319 38 faadia vl (Few) & Sl & T a1l g9ad
(SHAT) & G 379 | Fed §, ?ﬁaqwm(ffﬁam)?ﬂmw%?

(A) AT (&) (B) SIS (SHIIH)
(C) U (FHFIT) (D) TS (demi)

If you have a regular dodecahedron and you slice it in half along a plane that passes through the centres of
opposite faces, what 1s the shape of the croaisectmn 1

(A) Rectangle (B) Decagon
(C) Hexagon O (D) Pentagon

26. A @ dicwl
Find _ihé odd one.

(D)

- - -
- - -
S D . . e B & B B B _B_B_ 1
—_———t R B e mmeme e wee oo e o e oo e o o e o a e - : I-_--___--r--—------_-----
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(A) GHIS (B{ EaE ©) sl (D)

Introducing Sarath, Anila said, “He is the son of the daughter of the father of my uncle”. How E
related to Anila ?

(A) Son-in-law (B) Cousin (C) Nephew (D) Uncle
. . .0 '

(g, G H ST TG T Bt 2 ? :

q@?ﬂ' . 9, 27, 81, 2 3t . »,L.,..

What is the next number in the series ?

Series : 9, 27, 81, 243, )

(A) 591 (B) 486 ((52] 623 (DY729
9, T AT A HIT |

Find the next figure.

ked:1, I
Study the problem figures mar
rorg the answer ﬁgures marked (A), (B), (C) and

completes the series.

Sarath

[, IIIand IV caretully to establish the relationship between fhern.
'(f.[\Jb pick out the figure which most appropriately

(] N
== ® | B (4@ X (
?) E I] — O
P
® g AT | <]
e QR By T (ﬁmﬁw (D) 3iTTehicaHl
(A) TRE :
Complete the analogy - {
India:Alsia:: Italy : ? o Burope ©) Affica O Avacin
. (A ASIR. o eemmmmem I Page Tof24 T TTTTTTTTTTTTTTTTT
Kwu-24
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B fou o fraed 3 & 36 SR F = DR S 3ifiym i 1y ¥ fore e I A

From the given options, select the figure which will be most suitable to be placed in the last square,

o\ 2] A0 fele] el

3. 39 i A v e A e 1]

Identify the figure that completes the pattern.

% . = R )
S~ sy ermome™®

(X)

o
R wF 8 e

@ I RN Tt P gy 9
How many squares can you count in the ﬁgt@ ? 0

A
Q A @@
Toed .

O

(A) 14 (B) 22 S5~  (C) 20
35. HeH BT YATH qUITeh -1 ] 5 12 3 {61 & fyarsr 2 9
What 1s the smallest positive integer that is@isible by both 12 and 16 ?

(A) 16 (B)/ 48 g (C) 60 (D) 96
36. 3T ATHid J1a FIfSIQ | <
Find the next figure. -

(]
1

(D) 18
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37.

38.

59.

.

41.

41.

43.

@Wﬁﬁﬂ'}iﬂﬁmm :
e I 9T foh 2 ﬁmW}Wmﬁmﬁ'“ﬁmgﬁmmﬁmmm,?ﬁmﬁmﬁw%

A student made twice as many mist
y mistakes as he got correct answers. If he attempted 48 questions In total,

how many questions did he get right ?
» 2 PORS l . @
€) 16 AN ) ) 14 ” SO
| T X ) o (D) 18 er((\
ﬂﬁaﬁwm%[}‘ E,]«LK,_? (] /
What comes next in the sequence : B, E, H, K, { ? Z v /3
(A) M ) N (© r (D) L 7
. . /) . 4
@W@ﬁ 23%?? m%ﬁmﬁ@@maﬁ‘fomﬂmm% | 3% 918, A& I, 12.4 CriferAd
SISERERI ERCEIRRGCESIR KD 11mﬁwm%|mﬁm@mﬁml Y
(A) 1207, (B) 1504, ] ey 110, (D) 105 . —ar
A train running at 231_.6' km/hr takes 30 seconds.to|pass a platform. Next, it takes 11 seconds to pass a man/
walking at 12.4 km/hr in the opposite direction. Find the length of the train. / O~ -
(A) 120 m (B) 150 m (C) 110m (D) 105 m 25 o
0% BT R H TR S%aﬂmmm%m,m@ﬁﬁm{aﬁﬁﬁﬁmqﬁﬁw
To gain 8% after allowing a discount of 10%, by what percent must the marked price be hiked frc?rghe
cost price ? 3 __57‘07; 0 cp ¥
AA) 20% B) 19% /018 ~S—er 1% ) 18% (o 1/
A 37 B Y ST I 3 : 28 | TH A  FTH 1 AT 80 BT | S FEAA RGP FA:
Rt 2 7 (87 - = o5
g the sum of their ages will be SB.WM aZ g

The ratio of the ages of A and B is 3 : 2. Ten years hence,
respective present ages (in years) ? / g"
(ﬁ) 45, 30 . (B) 27,18 '<] (C) 36,24 (D) 49 28

o ST T 3,825 JUR A B aﬁ%ﬁmﬁ%mﬁﬁﬁﬁmw%m%laﬁaﬁﬁgm
ﬁﬁa)ﬁaﬁam%,a‘rmmﬂmnﬂ ifsTT |

noney in two equal yearly instalments. If the annual rate of

A doctor borrowed T 3,825 and he returned the m .
compound interest (com~?lé'il annually) is 4%, then find the value of each instalment. {0 g } _
2,275

(A) T 1,783 ) 2,028 (C), T2,377 Ry C £ ] ‘
aﬁiﬁﬁ-ﬁ-ﬁﬁﬁﬁ@rmﬁﬁqa‘r 24, 48 3T 60 & VI fvrea Bntt |

Find the smallest number which will be completi??y divisible by 24, 48 and 60.
*) 0 () 120 () o240 (D) 480

e ey e et S AR 12, 1 16 @ISﬁdﬁFﬁﬁ@%ﬁiﬁmmm%mﬁ% ,L
W%%%@@Haﬁﬁsﬁm@ﬂﬁ,?ﬁmﬁ 1 e 3 it | 77’?
ange his soldiers t0 stand in rows of 12, 15, 16 and 18. If he wants to |

s to art - '
also, then find thg_jummurn number of soldiers. H Ny

arr?;gel 4310e:m in a solid Sq(uBa;e s 2 (©) 3600 EERCI RN %
i CFY4 & | 57 SEamail & foe I HWa € 2 o
p- 9 s

& 4. How many pairs of these numbers ar¢ possible ?




(7

46. T 3 6 e 3R S Tere/eie R i @ 31 oy e fm #f =1wr @ 2 Qo Y AICH H A 1] S 3

10 @ehg T T AN & | 37 ) 71f 1 Ao | |
(A) 17 fefi/ee (B) 16 T/ (C) 20 Frireier (D) 18 Frrfiyerer _
A train takes 11 seconds and 10 seconds to cross 2 men who are walking in the same direction of the train
at the speed of 6 km/hr and 5 km/hr respectively. Find the speed of the train.
(A) 17 km/hr (B) 16 km/hr (C) 20 km/hre . | (D) 18 km/hr

@ F0 WL T 1l 150 oAt o QU Rt aehd § | Afd, 15 m@ﬁaﬂqﬁvﬁr%mgﬁ 165 ﬁmrrfgrﬁm
TR | & HTgU ot Shves e o T
(A) 150"si T - . (B) 100 Y (Cp 165 A (D) 155 T

1£0 7 (€ ¥ Some workers could complete a work in 150 days. ?{owever, due to the absence of 15 workers it was

completed in 165 days. Then the initial number of wotkers was :
(A) 150 workers (B) 100 workers (€)) 165 workers - (D) 155 workers

3. A, B &I 10% aTiieh ot T & GTER0T SA1S W T 30,000331'@37% | 5 991 o d1¢ B FehAT URT &1 (H9eH &3 F

T T 40,000 3 T st et & | ot o1 et 9 Y |
A lends ¥ 30,000 to B at the rate of 10% per annum onflzimple interest. After 5 years, B returned ¥ 40,000

and a watch to settle the dues. Find the price of the watch.
i M 3,200 ) ¥5,000 (S)]ﬂ,soo ) 3,000

49, .Aaﬂthaaa:r&ﬁ1oﬁﬁﬁq§mm%maﬂtc¢§]5ﬁﬁﬁ-ﬁm%|Aaﬂtcsﬁlzﬁﬁﬁaﬂm
" BIABIRClmR AR A i mwesd, .
T (A) 17fE (B) 10f YO) 15f - (D) 8=

~ ‘A and B can complete a piece of ‘work in 10 days. B and C can do it in 15 days. A and C can do it in
12 days. A, B and C together can complete it in how mdany days ? .

(A) 17 days (B) 10days ' (C)> 15 days D) 8 days
¥ ; - R T th
o 0 T s 4 gY 3R I T 34 B f e 10 whet qur 3 10 et arf firemar &, arqare 4 - 5 @
& | o e Fepsror Y forereft AT A ot 2 ® P
L 718 @ sofer. (B) 50T (@) 70 e gD); 220 ST
" The ratio of milk and water in a pot is 3 : 4. If we add 10 litres milk and 10 litres water, then the ratio

) r 73 becomes 4 : 5. How much quantity of total mixture was-present initially ?

-
-

o (A) 80 litres (B) 50 litres (C)" 70 litres (D) 20 litres

o Al
{‘ 51. A 3B W& a9 @S € | AMd B Hl A % Y T TS &, T a5 60% 56 a1 € 1 4 B AT A F s
-z a‘;A_aﬁ_tB %ww#wﬁﬁma@]mﬁrm P
A and B are two heavy steel blocks. If B 1s placed on top of A, the weight increases by 60%. How much
weight will reduce with respect to the total weight of A and B, if B is removed from the top of A ?

(A) 37.5% B) 60% (C) 45.5% (D) 40%

52.  WTHITROT ST X 20 N & Teh SR T 7T &1 el & | S T 1 Ao | QRP.(29 287 (26 46
A sum of money becomes four times in 20 years at simE}e interest. Find the rate of interest.
(A) 8% By 15% (€).| 20% . (D) 5%

53. T AT H 8 BT GI0 UTH et bt aftea 5.1 91 3R 9 )BT 1 6.8 AT | 17 SHI o e 37 a1 & 2

The average of marks obtained in an examination by 8 ptudents was 5.1 and by 9 other students was 6.8.
- The average marks of the 17 students were -

@A) 6.5 (B) 5.9 Vegf 5.95 (D) 6.0 cro.b ¢
54, gGra sATTd FATHE quiient ot 3ftad 126 & | 270 & Gad 2 quifeh T8 ? c
The average of séven consecutive positive integers is }26. The smallest of these integers is : é
(A) 126 . (B) 122 \LE’{? 123 (D) 135 =
kW34 T R T I 7/
> A ; e, 2 |
T g AL Al o
d YV



(7% 0 —— 9/ —_—
@ 3w € 3y TS
* —reY_

: ©
55. ﬁ?ﬂ‘iﬁ“am(’ﬁaﬁ“@@waﬁls%ﬁmﬁmélzo%mﬁmﬁmﬁﬁ

B TIC H ST BT 2 Ll —

On selling an article for ¥ 1,700, a shopkeeper loses lgl%. To gain 20%, at u'?hat price must he sell that%;/
article ? - s :

(A) 2,100 (B) T2,155 t/(C)(‘ifl 2,120 W) f2,40@ _,£

>

\ - 0 5
56. @Wﬁﬁmﬁwwaﬁ10A,£r€rﬁqtam|uﬁ§ggéz1,ogoa¢ﬁﬁtrtéam,a*r3quzmgm

& hiad -
RIaT | {ih 1A ST | | /9 T—gr

“:F

A book vendor sold a book at a loss of 10%. Had he sold'it for T 1,080 more, he wdulPHave ALLE profit o
of 10%. Find out the cost of the book. (" P %
» 7

(A) T7,400 (B) 4,420 (€)% 5,400 (D) T 6,480 IQ 7 &
. e ] R T S T ¥ 40% e & | 1 gz b P B SR A 12% SRR 2 7

The printed price of an article is 40% higher than its cost price. Then, what is the rate of dis{p(ﬂnt‘sﬁ that

the gain is 12% profit ? _
L/é) 15% (D) 21%

(A) 18% (B) 20% T 273
. e :

.7 ST SR T G, e S e T e o3 forg ST S @, 3 ford :

¥ foTT T STETOT FHid AHT ST 2 L / 0/
| "

(A ¥@ L (B) PRI (Q)Qmﬁ (D) EETEA
Which ancient Indian text is known for its detailed treatécl on music, dance and drama, and 1s considered l’?r
foundational work for classical Indian arts ? AN | \ y
(A) Vedas (B) -Arthm:llgstra ______ (C)a_f;ﬁflanusnmtl (D) Natyashastra Yot 7 — 7?7’)

. /_’__,——-/
59. mﬁgﬁugﬁnfmqaﬁﬁméﬁ(mm)w%? Y (7¢ ] />
(A) Te T Sttt T & i i AT e aﬂwﬁ%mw%rﬁ/ PREY

What is the International Bank for Reconstruction and Development (IBRD) 7 & 7] L
ation that regulates angSupervises the global banking s

(B) Itis an international financial institution which prqvides financial assistance to member countries 2§
y alleviation and social developm;:f D

yfinance loans to small businesse

60. gﬁamﬁmﬁa@maﬂﬁﬁgﬁmﬁ 13 & gfe i, § geT ®9 @ mive off/:
(A) S @t & alih 9% X 0/ 20 yj’f@__/ﬁi ZX?

v
(D) mmﬁm%aﬁtﬂaﬁtmﬂﬁ?m , f‘?

The Green Revolution, which signiﬁcantly increased agricultural production in many developing

h%

countries, primarily involved : a 27
(A) Organic farming practices ﬂ (| D -1 §
(B) Genetically modified crop> M ¢ =1 I
(C) Advanced irrigation techniques Q 3 (— )1
D) High-yield variety seeds and chemictl T2

Kwu24™ Page 11 of 24 -




3 mwwmﬁwﬁaﬁmsﬂwaw%?

What is the highest GST rate levied on white goods ?
(A) 25% {B) 12% (C) 28% (D) 18%

62. UNCTAD %1 q0f 771 R ?
(A) ' FATES AN HA $8 U SaTE
(B) IATSEE ANIW HISHH 3T I8 U SqTHe
(C) Ffradet Avim F=ha 3 3 Ue Saeuiz
(D) e A Hi-hdl A ¢ U Saaqie
What is the full form of UNCTAD ?

‘E% United Nations Common Trade and Development
United Nations Conference on Trade and Development

-(C) Universal Nations Conference on Trade and Development
(D) Unique National Conference on Trade and Development

63, T A e ¥
(A) TEAAAN AR TR

%&O ASCOC%

. ) . e
(C) AFR AR TR (D) 3ftrepr 3R fareioTierhr
Human rights entail both : | .
(A) Liberties and obligations (B) Liberties and_grivileges
(C) Rights and obligations (D) Rights and @'ﬂeges

64, " TrAforiRad 7§ - Su Wi o wner offty e aren a8 aar g 2
(A) AR . JB) HIeEE (C) wirasT (D) =
Which of __Itl_le fgllowing country does not share a land boundary with Itga ?
(A) Myanmar .~ (B) Maldives (C) Bangladesh (D) China
foram gama faar fo < g2 foredlt o1 oo fafie e e g2 2 ' <]
() dEW O (B) W © www I (D) =
Who Suggested that ‘‘Everyone has a specific blood group”’ ?
(A) Landsteiner (B) Mendel (C) Louis Pasteur (D) Darwin

66. I g fore o @ gad famra FTandT Far e ?
) Wmﬁwmﬁmg@ﬁmm%mﬁmmﬁ
(B) sﬁamnéuqqﬁqﬁamﬁaﬁﬁathﬁaagﬁ% -
(C) _ 39 FHle Icqei & ¢ 14 STHaTd ferenrer FI’FHW
wfwhm%agmwﬁzﬁwaﬁ%mﬁ?ﬁamm

'In what ways does Green Finance support sustainable development * ‘?

(A) . By encouraging the exploitation of natural resources without re for environmental impact
(B) By funding fossil fuel projects S5 -

(C) By facilitating the growth of industries known for high carbon emﬁsmns
.(D) By providing financial resources for environmentally friendly pr%ﬁcts

-

67. PMJIDY aﬁﬁﬁgﬁo - e -{(tt A

(A): 28 317, 2014 ® 1S 3T, 2015 0 3T 20ﬂ 2015
When was PMIDY launched 9 015 '(C) 3 ’ ‘@) 2 Ay,

'I
- -
---- “’
___- —
-—-—----—--—-----------------—_--__---
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70.

11.

12.

13.

reQaoT T Teh HEwqUl Ga i g s/ & 9
() I g Ereet (B) &y e
at is a significant environmental impact of urbanization ?
(A) Increased green spaces | . (B) Decreased air pollution
(C) Higher carbon emissions G (D) Improved water quality
SpaceX—-qgaﬁGﬁFﬂTqTﬁﬂ‘fIﬁﬁ Wﬁ&?mjﬁw@mmﬁﬁ ?
(A) TAHHER () (B) Tt siafee el
(C) S (3 +(D) feerza -
Who co-founded SpaceX — the first privately funded space programme ?
(A) Elon Musk . <: (B) European Space Agency
(C) Jeff Bezos ' {-ml (D) Bill Gates
freferfiaa & 9 fore g witd T o w5t sl s w6, 7 fore o 2
(A) THed fEE o B) =T fRige”
€) WA wiarrTE  XD) W g |
Which of the following former Indian Prime Minister did not receive the Bharat Ratna ? '
(A) Manmohan Singh (B) Charan Singh |
(C) P.V.Narasimha Rao . O (D) Lal Bahadur Shastr

T 3 e STTORT e T 3 e ST ST off 2

(A) TS AT '_(,B'(Fﬁéﬁ?ﬁ E-;;' (©) dis fored (D) WIS 3ThaiS
First census in India was conducted at the time fawhich ruler ?
(A) Sir John Napier  (B) Lord Mayo G (C) Lord Lytton (D) Lord Auckland

g 7 & w1 Frfewr SfafaRy TIred i TEsh g8 2

&)‘ qa'r%amzmga (n;/mwgz <] (@ T HE IS "fD)""ﬁEﬁm‘ga

ich battle marked the beginning of the British-colonial rule in India ?

(A) Battle of Wandiwash (B) Battle of Buxar

WWWW%: | ‘:ﬂ-
(A) N N SICAtEE ke EICIL L LI

(C) Battle of Panipat (D) Battle of Plassey

(B) U Fohrt 1 i gwa € A0 -0
(C) el Yeads aeh SfHFd Tgd - PO
@ T Wi S T QA I € S T

The term Ransomware means . . - |

(A) A malware that monitors user activity O AL

(B) A type of phishing attack " (:I

(C) Unauthorized access t0 2 netWO;d temandh ransom

(D) A software that encrypts files 2 : /’é 17 oft 2

VI T Ry 7 e foree A glﬁ-: '-

= Syut () (B) YHei"

piib ot LJeAD wETdl 9l

(C) BhEw T s=a AL Zl ,

Who wrote the book ‘Sadgati’, Of SRR rFlBa) e I:"remchand

(A) Jaishankar Prasad (D) Mahadevi Verma

(C) Harivansh Rai Bachchan

_—._-—--------------___-_
_--
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- e e
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75. T wiverer e wewint ¥ $eemm R sk Srde S 3 g ocligE i SRV 9 1 ?

N B) X&) () e )(P) i

Which social media platform introduced th% concept of “Fleets”, similar to Instagram Stories and Snapchy

Snaps ? & .

(A) TikTok (B) X (Twitter) ] (C) LinkedIn (D) Naukri
76. 1 31 & foelt 371 safh it Jakime v e friaror wenfira T |

Oy (B) 3w g, ) (C) € (D) R

means taking forceful control 6‘? nother person’s website. |

(A) Hacking (B) Web hijacm’nE (C) Spam - (D) Phishing
77. maﬂtmﬂﬁm%aﬁaﬁmw%wﬁéﬁmgm%?

(A) g B) FF ] @y (D) T

Due to which river has an issue been created between India and Bangladesh 7

(A) Yamuna (B) Brahmaputra (C) Teesta (D) Ganges
78.  TEAT B I N 6 A sfeeifea e wret i gem oy Aol e srET S € 2

SA) T | B) "Yu ~ (©) g (D) AT

Lathmar Holi’ is a unique celebration obsgf'fed in which town of Uttar Pradesh, mentioned below ?

(A) Barsana (B) Mathura (,] (C) Vrindavan (D) Agra
79. ULV FT Iga S ureh v Rt & @iaima

(A) & @y (C) TR (D) 37Ae

In which district was Uttar Pradesh’s first ﬁ'lfﬁc Park opened ? ‘

(A) Amethi (B) Gorakhpur©? (C) Prayagraj (D) Ayodhya
80. TSUT HWAAT I I o ATH & STHT STaT ‘f'] |

(A) dRFo=@r ) (B) T4 o

The Harappan Civilization is also known bywhich other name ?

(A) Vedic Civilization (B) Aryan Civilization

(C) Dravidian Civilization (D) Indus Valley Civilization
81. VR H SATHA & e HIF FHEAd & ?

(A) =& /e X ) A

(C) 7o fagrt at '

Q
|
L

Who 1s known as the father of GST in Indie:%
(A) H.D. Deve Gowda (B) Narendra Modi
(C) Atal Bihari Vajpayee g (D) Manmohan Singh
@ wuH fayg TEFTEEATAT? |
When did World War [ begin ? <] S
(4) 1930 (B) 1919 () (C) 1920 (D) 1914
83. WTLd 1 T &1 g <]
() T sam  (B) HEwad
(C) =T TSN Jay (D) fom =iee Uy o
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@ 2011ﬁm%34§mmﬁ§aaqm____%l

The total forest cover in India as per the 2011 census

1S

w 22.07% (B) 17.80% (C) -2—3_42% (D) 21.05%
f . m.mwﬁmﬁw%ww(mﬁﬁ)ﬁmﬁﬁgaﬁﬁmmmﬁm%?
| (p) Farsder @ ST PR () e atEe (D) 79

Which term describes the process of assigning numbers to observations according to specific rules ?

' (A) Analysis (B) Sampling o (©) Hypothesis Testing (D) Measurement

e e |
(A) T 22 ®) A1 Oy IR (D) T 21

[ Which Article of the Indian Constitution deals wﬁ_ith the freedom of speech ?

(A) Article 22 (B) Article 14 t;é} (C) Article 19 (D) Article 21

@ e ¥ o e 3 g 3 90% S i werfra e 2 ‘
(A) L B W' j© = (D) FW |
In which city of India are 90% of the world’s sm;g\lﬂ diamonds processed ?
(A) Jaipur (B) Baroda (C) Mumbai (D) Surat

8. HIGAT ford <31 St Tt & 2
o« TR (B) - A (C) sy (D) =
Sofia 1s the capital of which country ? 2
(A) Bulgaria (B) Afghanistan O (C) Bangladesh (D) _Beﬁin

9 Wﬁnmﬁ_w@m%m@ﬁiﬁﬁﬁﬁ?ﬁﬁ%? .
tﬁ T 75 (BYST=0T 72 ) (%1 HTBT 73 (B) TE 74

ich Article of the Indian Constitution deals with the power of the President to grant pardons ?

(A) Article75 =~ (B) Article 72 <] (C) Article 73 (D) Article 74
N, YT & gy Tegafa i 2 2 O)

(A) 7o gaTel Tt ) qm <1, TS5 ST P e

(C) <. sifer gaH (D) o T

Who was the first President of India ? |

(A) Shankar Dayal Sharma .. (B) Dr. Rajendra Prasad

(C) Dr. Zakir Hussain (D) Pratibha Patil

&A) Cﬂﬁﬁimw (B) mmmo (C) HeHT it a1 FHET (D) e ST
The primary aim of a co-operative society 1S to : Q
(A) Raise more money (B) Earn more pro_ﬁtsm (C) Serve the members
O e e 3 oo Frerferfiaa i & - de R R o
_ Whichqof the following institution 1S responsible(‘fﬂ' cyber security ?
“1(C) CERT-Ip

G
O

-
L
- -



93. e 3 at f vt -aifere w7 Rre 5w e ¥ Rt arerr 5w frrdt 1 AR B A s

T
(A) T fasgw (B) TS SR
(C) =i HTEu™ (D) WrAifres SAEY

The research that applies the laws at the time of field study to draw
problem is : =

«?A) Research analytics

L =
b

more and more clear ideas about t,

‘| (B) Action research

(C)  Applied research {--?LD) Experimental rescarch
I e
94. F= FHN frufraea w=i Remg 2 0 . :,F;
(&Y ST W™ (B) i .~ (C) ufim s (D) g Jaw
Where is the Central Agricultural University situa{éd ?
(A) Uttar Pradesh (B) Manipur \"'-'-“:l (C) West Bengal (D) Andhra Pradesh

96. A1 FEMALE I 654135 % &9 § $29g BT ST . 8 LEAF 2

_ W ewg v smom
If FEMALE is coded as 654135, then LEAF will.be coded as
(A) 3625 B) 3516 :,'l-l (C) 3526 (D) 6523
‘\'l'"p
97. Tawm m gra Hifve . ‘,_.,:J
.
(A) Nz : 7= iry (B) TTGHTY - AT
©) T : 5o <1 (D) B : 3w
Find the odd pair : H':]
o N
(A) Barometer : Pressure {1 (B) Thermometer : Temperature
(C) Balance : Mass: e
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uﬁﬁammm@ﬁ:g% ?ﬁqﬁa‘ﬁ St o = i T ST 9

(A) T42.59W@ B) TRsT@ (@ 7505 (D) T35.5Td
The bar graph given below displays the perceﬂftake distribution of a company’s total expend'ﬁire i;,roxs
various expense catcgories for the year 2013. o
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SRR (I B~ B
\ g 'é E_‘ a F; <] S
R S 1 < n g

If the expenditure on advertisement is T 2.55 {Tres, then the difference between the expenditure on

transport and taxes 1S :

(A) T42.5 lakhs (B) %32.5 lakhs (C) T50.5 lakhs (D) %35.5 lakhs

TR p 3k s . 6% 3T Q TR FT I 142 15 8, 1 P 3R R F S1rar war gy

If P and Q are in the ratio 3 6 and Q and R are in the ratio 14 : 15, then P and R wi| be in the ratio :

A) 8:7 @y 719 po— &) 931




100.

101.

102.

103.

104.

10S.

TF 9 Hifed ¥ HIAE A T R | 99 15 e & 4 =i % g wﬁmmzimgﬁm
éﬁﬂm%ﬁm@awmﬁaﬂmnﬁaoﬁmmam%l%ﬁm

(A) 250 frft (B) 290 fawt AC) 300 ff (D) 220 fepe

A bus is going to Coimbatore from Kochi. With 4 stops of 15 minutes each, the average speed of the

e
comes out to be S0 knvhr. But if the driver takes the bus without any stops, the average speed comes gy to
be 60 km/hr. How far is Coimbatore from Kochigd=

(A) 250 km (B) 290 km <,] (C) 300 km (D) 220 km 57
uﬁé@éE%mﬁ%@W% a‘rﬁf’\'ﬁmm%@m: (e
If SCREW 35 wiitien as RCSWE, then NAILS willbe written as -

(A) IANSL (B) NAISL &3 (C) AILNS Py TNALS
TG 13,32, 57,88, et s g iy ij‘_ LS
'Find the next number in the series 13, 32, 57, 88 j_
(A) 136 (B) 110 C) 125 ) 132
- <

STEHT HEAT F1q IR | _ 17 j 2, L,/ 6— Lo
Find the dissimilar number.

216, 343, 504, 512, 729 | \ﬁ
_(é) 504 (B) 512 (C) 21 5 | (D) 729
ﬁﬁmﬁaﬁ%é%%ﬁm%wwmwaﬁ% .
(A) S (B) Tumm J (€) ==t ¥BJ <MaT
How is my father’s sister’s son’s father’s father—@aw related to me ?
(A) Uncle (B) Father CJ (©) Grandmothed) ¢ “(D) Grandfather
3*4FAYR3, 4 A AT R q_ '3,) ’\(;\ 1 3
3#4F I3, aH R R L. — 2
3@AFTATR3, 4 FTUE R —
3&AFIIRI, 4FT AR <[ @ (77?’
3+4FTIATL3, 4FTTAR |
L@M&N#0O+P*Q#R% JFAR, M, R & et yapr diaifirg 2 9

) =T - (B) et (C) witsft (D) =TT
3 * 4 means 3 is the mother of 4.

-3 # 4 means 3 is the father of 4. - Z” ) ??Qa-) 239 ’Z‘-’/
3 @ 4 means 3 is the brother of 4. <j /
3 & 4 means 3 is the daughter of 4. O
3 + 4 means 3 is the son of 4. 2& 11
Accordingto L@M & N#0 + P * Q#R, how@M related to R ?

(A) Aunt (B) Nephew &2 (C) Niece (D) Uncle

106. Wﬁmﬂ@ﬁﬁmwmt@?%mﬁﬁ%lﬁaﬁmﬁmﬁaﬁIWW% | o e ot
e feam it s

i
p———— B -_-l-l
---- --‘_
- -

ST T 9 )
(A) ,(B/ I (C) =f&or (D) E'F&W qtsm
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107. I G& St ufdny & sge foar s, at afaor-afdm & fwass gro wfaeenfa e s 2

(A) TiEm (B) aforgd (C) Iut-ufzm v(,rﬂ Ie-q4d
If East 1s replaced by West, then South-West will{g@ replaced by :
(A) West (B) South-East <“] (C) North-West (D) North-East 2 l/)
G 211,227, 233, 241, i arTeft dE 3 Hifs | /) C\F/Q 3{7

P == < v{{ _ 2N {/Z
Find the néKt 1@1‘1\1:1})' in the series 211, 227, 233,@5!, L, & ‘9 o
(A 2575 ®) 25 & (O 263 (€ (D) 2R s

109. G 1,2,6,24, ¥ 3T @& I1d HIfQ | <] s
Find the next number in the series 1, 2, 6, 24,
#5120 B) 48 ©) 60 (D) 84

110. 3 I5& CATASTROPHE o &Il Y SUMHTeAT 6 B afer fora e @ aﬁw%aﬁaﬁ?—mm
TeT 3HH | 8 2 ARCEHOPR LT

If the letters in the word CATASTROPHE are rearranged in the alphabetical order, which one will be in

the middle in order after the rearrangement ?
(A0 . (B) P
111.

100
90
80

:
:: -:- .
::
[28

oo el BIR
Q:Q:Q stest
o'
oted
oot
ote!
olelet Bt
oete! IRE
l’t‘

|
|
|
|
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¢
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)
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/
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:o
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4
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¢
¢

¢
\
{
)
¢
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gfasTa / Percentage
8 &

W
-

S
sassisls: §

. =

10 - 4

0 de - Vil
2 l-"‘” ..._.___-:ﬂ

&
Iaqifea R I Fed qeAn = 350000 < Jeqifea wRI Y Fet €& = 440000 <
Total No. of Cars Produced = 350000 O Total No. of Cars Produced = 440000

Wﬁmwé@:mmﬁ)@mmaaﬂﬁﬁﬁﬂwmﬂ-wm#mwmm%I
afX 2001 1 P e 1 FHIET T IeTE TG 2000 & THIA BT, A1 2001 ¥ I P Wb iy it o) weear 111

Bt 2 4 "’Uﬁ
The Bar chart given above shows the percentage of six different types of cars manufactured by a compsTy 500 ©
over two years. If the percentage production of P type cars in 2001 was the same as that in 2000, then what

would be th ber of P type cars produced in 2001 ?
(A) 22500?) i 120000 ) 132000

- -_-#--‘_------ -
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112. ETua?asrw 15 3, 2022 N G 0 | It e e Foas e Y A AT | T TS o g

(A) T (B) Y[R .o(C) HiTEn eAD) THAT
. Siva was bom on April 15, 2022. The same year ﬂrﬁ\lcpcndencc day was celebrated on Monday. On which
\ day was Siva born ? \-

(A) Sunday (B) Fl‘iday (';3 (C) Tucsday (D) chnesday

(A) 84600=.  (B) 79600 T o, ;WI(C) 89600 & . (D) 99600 a7 =t

A rectangular field has its length and breadth in Yhe ratio of 8 : 7 respectively. A man riding a bicycle

completes one lap of this field along its perimetef.at the speed of 28.8 km/hr in 2.5 minutes. What is the
area of the field ? |

(A) 84600sq.m '(B)! 7lt9'600ﬁsq:m 1o (C) 89600 sq. m (D) 99600 sq. m
014) 1992 = ToR s 7 3 2
VI (A) @?TT-I'ITWUT D(B) A AT ST ) ? 8
L (O T fEwwe R - ) &0
115, *wﬁ’mﬁﬁﬂq-mmsh%,ﬁqﬁmaﬁagq%m? /‘7'-7 e
(A) @ (B) @ Uy wm A~y )
116. ‘e Ffaam a2 ¢ “"Z’(
-~ (a) e (B) wiéw f%(c) A (D) T
117. “Nidger vee ¥ H-91 306! W 7 ™ )
(A) i (B) ¥ (\j(C) Ry (D) qit
118. ‘damEr A a9 R - . <]
(A} ey B) &% (C) fam (D) =i

1i9. ﬁn%%aam%%wﬁgmanwl

3
O
{)
.
)
121. 559 3 318 & -1 91 ST 2 0 &]
) TEARTIREIR ? ' ) (B) UG RTHFTRIR ?
©) T TiTa ) (D) wgrEn
122, “UH TR FEEH Y pummr @ 2 2 '
(A) SHTTS (B)  37cTeh! T (C) Fwom Hrercit (D) @Y aRerare
{23, ‘3QYd T W wg
(A) W& (B) miy (C) 31’ (D) faam

- e -,
- e e e . -_'_--
_--_- _-_.
_‘—'- --'------------------—_---_-----—--—-—--__—-‘-
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124, HTTATE i BIGH JUIHTET & 8 3 A fohay fefrr of &t & 2

& S (B) e (C) it (D) TGHHAT
175, facr P TR ISR @ 7

(A) (B) W o (C) T+ (D) 3T
196, TS YeE H TIIAATHT Y15 T | .

(A) fra (B) vfehat (?:""'j (C) A= (D) 41E
f27. AT T GAITaTH] T3 1 ,-.-t’-;"]

(A) ® (B) e oy © = (p) T
128, ‘FEET TG H YIH TAT 8 : ] B

(5) =ed (B) ¥aq ::I (C) =@ (D) %

L.

. @ 1291 133 TTEN9T 99 : o

<1 @t T € 8 S | mﬁw@wﬁmﬁ@%m%ﬁﬁmﬁm s, Al
mmmﬁmmmm% STk TN & ST faTT FTE faETs vedn e | 37e oft gteron <t TahTd ddT
aﬁm%mﬁfﬁﬁ%nﬁ@ﬁw@%lﬁm%nﬁrﬁ@wmaﬁtﬁﬁ A F T FAFIETE |

) SRy @) e
(C) e i fosm 7 D) ST % fammer 3
130, T S T YR AH B T IS G ? e W
(A) e ffasad (B) Wﬁgﬁwmﬁ
(©) ST Y 3151 DItk il WS E (D) s, &9, f3re 3ftt whig ot wfoeaui |
o ifa%m%;mm%w {1 (B) SToft-arot T H Y A o SRR A

(C) S G T AT FA I () (D) STTHT-379T ATHIE SATIR S & 3639 /

S ——t S LT
o (A) aﬁw%sﬁm;(%qsqa@ﬁmwﬁ%l” #) (B) AW FTAA TG A AR IR [

wuC) S R LRI el (D) 2T e e i syt et Sl & |-

(]
133, 39 RIS 1 g A T8 ? |
(A) Frwredin i faza T <] (B) e 3w

1&

C) fmdiwaEifizs (D) fafr farwa g it fonfifiam
134 _ e ez 3 fq ad 3 3w AT
(zrfr ﬁg_mw (B) am-TEl () el -am D) filt _ Fremreh

- O N O - - - .
-—_—-_- - E e - - -
- = - =
- s ms B G0 B B En En SR S = - (S—— -
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135, ‘WHU 15 & qHigaTs! Y188 &1 999 Hife

(A) WY (B) =R (C) & (D) P
136. Y’ (I9H) frah mA R 0 -0
(A) X B) ¥ - (0 FEFW (D) ¥

137. v foma & ored ot v e areft v @t R )
GVEEILLIGEER] (B) Wewe fskam <?](C) N CWIDERE R (D) g BT

TABIR , e

(A) ﬂﬁﬁﬂ'gmﬁa? (q){_/mmﬁm <"_|(c) STE-THTI I)RELLLIEE
139. FH-ar1 yse FRar-fagiyor & 9 ()

(A) e ®) <|S¥ T (D) Fremm
140. R &5i4 fohg WU & il ot & 9

(A) AFI U (B) =l (C) HYh auf (D) TEEH
141. Ffoiad ge & =w et 3 & frar 1 et 59 e e veifie )

TS et | et | (ST — FTe o] e

(A) TR (B) R () (D) ST
142. iR i d SR a2 2

(A) 3 (B) @ ()©) = ®) 7
143. SAA Y F AT ATFRE 2 9 Z '

(A) HYEH «B) RN <](C) =Y (D) tferertor
144. 3T VIsaT o 1T Ueh 18 7 =13 iU )

S Trem T ST | ,.«-]

(A) HFaTa (B) e M) e AD) sifiart
145, F=feiRad § @ H9-a1 Ayl g 2

(A) YN (B) IuH (C) I (D) ¥YF
146. 1= TR 1 TN Rt o AT, o1 SR R 3 TR AT 2, T a1 AroT A & 9

(A) Tazar=x (B) wHATHA () Qy Far=A (D) WA=

147. Frafafaa § @ FH-ar s e TE € 2 (=)
(A) Torar-fasao (B) GRS (@ faemieaives (P TiwTTEE
wi

148. -9 Y162 ‘T Y763 T el 7T 8 2

(&) T (B) W <.,,](C) fd (D) FT
149. ‘@ A R-graqE £ 9 ,-l
(A) wgife (B) far ~(C) e (R &%
150. ‘Wﬁﬁm*ﬁ’@ﬁﬁﬁwwwﬁm%?
@) grgar i fRufy (B) e
i S S (D) e st Reafe

el BB e R T T i e L ——
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